Flip the Switches

Time limit: 1.0s  Memory limit: 64M

Megumin is trying to deactivate a security system! The security system is composed of N different switches, and is only
fully deactivated when all of the switches are off. Let's define flipping a switch as changing it from on to off, or vice
versa. Megumin has thought of the ingenious idea of exploding-thewhotething flipping the switches with her staff to
avoid detection! However, given her position, she can only use her staff to flip a prefix of the switches (switches 1 to k,
1 < k < N)in one click. Can you help her figure out the minimum number of clicks needed to fully deactivate the
system without using explosion?

Input Specification

The first line will contain an integer N (1 < N < 10%).

The next line will contain a string of N characters ' @ and | 1 , representing the states of the switches from 1to N (' @

is off, ‘1 ison).

Output Specification

Output the minimum number of clicks required to fully deactivate the system.

Sample Input

lo01

Sample Output

Explanation for Sample Output

Megumin can use her staff to flip the first 3 switches, changing the states to 0111 .
Then she can flip all the switches, changing the states to 1000 .

Finally, she can use her staff to flip the first switch, changing the states to ' ©000 | and fully deactivating the system.
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